(N) SIMPSON 2-A35 CLIP ANGLE
AT EACH BLK’G. TO PURLIN.

USE 8d x 1 1/2” NAILS T0
BLK'G. AND #0 SELE TAPPING

SCREWS TO TOP PL’
(TYP.) \

(E) METAL DECKING

S

PEN—<T

(N) 1/2" THK. APA RATED 24/16
PLYWOOD SHEATHING w/

SIMPSON PDP x 3” LONG HEADED
FASTENERS @ 12” O.C. o (E) METAL
DECK STANDING SEAM. (TYP.)

(N) 8d @ 8” 0.C. TO BLK'G

. 2 (N) 4x4 CONTIN. BLK'G.
HT. OF BLK'G. RIPPED
TO HT. OF () METAL DECK

STANDING SEAM, TYPICAL
AT (E) AND (N) PURLINS.

(N) DBL. TOP PL’S.
SEE DETAIL D8.

P.E.N.

(N) 2x6 DF#2
AT 16" O.C.

(N) 2x6 CONTIN.
16d AT 6” 0.C. TO

éR) 10 x 3" SCREWS
(TYP,

(N) 2x4 DF#2 BRACE
AT 4 o 0.c. (TYP.)

(N) SIMPSON A34 CLIP ANGLE
AT EACH BRACE TO 2x6

USE #10 SCREWS.

(TYP.)

ER)Agm X 3" SCREWS

(TYP.)
(N) 2x4 DF#2 BRACE
AT 4-0" 0.C. (TYP.)

(N) SIMPSON A34 CLIP ANGLE
AT EACH BRACE TO 2x6

USE #10 SCREWS.

(TYP.)

(N) DBL. TOP PL'S.
SEE DETAIL D8.

P.E.N.

(N) 1/2" THK. APA RATED 24/1

PLYWOOD SHEATHING w/

SIMPSON PDP x 2” LONG HEADED
FASTENERS @ 12" 0.C. TO (E) META

DECK STANDING SEAM. (TYP.)

COPE
< CHANNE,L

AS REQD.
1/2” CLR.
TYP.

(N) PURLIN, SEE-—/

(N) SIMPSON A34 CLIP ANGLE
AT EACH BLK’G. TO PURLIN.
USE 8d x 1 1/2" NAILS TO
BLK'G. AND #10 SELF TAPPING

SCREWS TO PURLIN.

(N) 8d @ 6” 0.C. TO BLK'G

(N) PURLIN. SEE

REV|  DATE/DESC

S
)
jd
N
o
z

RCE 71320

THESE PLANS PREPARED UNDER

Avenue

9 Union

e

@ NOT USED

C.L. OF COLUMN.
(TYP.)

TYP.

st PROVIDE 2x4 BRACE NEAR

(N) L 2x2x1/4 ANGLE
INZLINE OR 6" FROM

g_N COLUMN. SEE DETAIL D25
ADDITIONAL NOTES
AND INFORMATION.

(N) SIMPSON A34 CLIP ANGLE
ATEACH BRACE 10 BEAM.
USE #10 SCREW

BRACE AND 10 SELF TAPPING
SCREWS TO BEAM.

(TYP.)

&\P 1/4" THK. STIFFNER Pk
EACH SIDE OF WEB.

S

L(N) BEAM. SEE

:_,4‘/_

o

=<
Y

—CEILING

ROOF FRAMING
PLAN,

COLUMN. SEE

[

L

FOUND. PLAN.

(N) SIMPSON A34 CLIP ANGLE
AT_EACH BLK'G. . TO PURLIN.
USE 8d x 1 1/2" NAILS 10
BLK'G. AND #10 SELF TAPPING

SCREWS TO PURLIN.
(TYP.)

(E) METAL DECKING ——-;

A

(N) 1/2” THK. APA RATED 24/16
PLYWOOD SHEATHING w/

SIMPSON PDP x 3" LONG HEADED
FASTENERS @ 12” 0.C. TO (E) METAL
DECK STANDING SEAM. (TYP.)

(N) 8d @ 6” 0.C. TO BLK'G

(N) 4x4 CONTIN. BLK'G.

CHANNEL

(E) STEEL BEAM

HT. OF BLK’G. RIPPED

TO HT. OF (E) METAL DECK
STANDING SEAM, TYPICAL
AT (E) AND (N) PURLINS.

Ts@ NOT USED

TS@ DETAIL

24 DETAIL

BETWEEN (E) COLUMNS
AND METAL WALL
PANELS.

(N) CONTIN SIMPSON CSI6 Al
STRAP AT FACE OF 2X6
BLK’G., NAILED EVERY
THIRD HOLE.

(TYP.)

(N) PLY. SHEARWALL——=
SEE FOUND. PLAN.

(E) METAL WALL————»H

PANELS TO REMAIN.

(TYP.)

(N) DBL. TOP PLATE , BLK'G. (TYP.) (N) 8¢ © 67 0.C. T0 BLK'G (N) 8d @ 6” 0.C. TO BLK'G ROOF FRAMING ROOF FRAMING
(N) 2x6 DF#2 AT 16" O.C. (N) 84 © 6" 0. (N) 2x6 CONTIN. w/
STUD WALL. (TYP.) T Bika L 2-ROWS #10 x, 3" SELF TAPPING (N) 2x6 CONTIN. w/ (N) 3/8" THK. TAB Pk
SCREWS AT 12" 0.C. TO 2-ROWS #10 x, 3" SELE TAPPING w/ 2-5/8" DIA. MBS
P.E.N BLK’G. (TYP.) SCREWS AT 12 TO (N) 2x6 DF#Z .
EN. BLK'G. (TYP.) 1 AT 16" 0.C (TYP.)
(N) PLYWOOD SHEARWALL. (N) SIMPSON LTP4 AT (N) 1/2° THK. APA RATED 24,16 r
SEE FOUND. FLAN. 12)’ 0.C. BLK'G. TO PLYWOOD SHEATHING w/ (N) 1/2" THK. APA RATED 24/16 (N) 2x6 CONTIN. w/
CHANNEL. USE SIMPSON PDP x 2” LONG HEADED PLYWOOD SHEATHING w/ 16d AT 6" 0.C. TO
8d x 1 1/2" NALS TO FASTENERS @ 12" O.C. TO (E) METAL} SIMPSON PDP x 2" LONG HEADED BLK'G. (TYP.)
BLK'G. AND #10 SELF DECK STANDING SEAM. FASTENERS @ 12” 0.C. TO (E) METAL )
TAPPING SCREWS TO DECK STANDING SEAM. (TYP.) (N) 8d @ 6” O.C.
CHANNEL. (TYP.) Ve TO BLK'G
po5g DETAL (1T ] .~ PEN.
("9 3/8" APA RATED PLY. SEE DETAL [ (N) SIMPSON LTP4 AT
8d ® 6” 0.C. EDGES il 12" 0.C. BLK’G. TO
& 8d @ 12" 0.C. FIELD —m| (E) METAL DECK N CHANNEL. USE ~
327 NOT USED 28 DETAIL 3 e g e P20 DETAIL
NTS NTSE () 2xs DF 42 BR P.EN——=1) (N) 4x4 CONTIN. BLK'G. Taseng Sediis 0
x ACE HT. OF BLK’G, RIPPED E) METAL DECK
AT -0 0.C. (TYP.) TO HT. OF (E) METAL DECK ) L CHANNEL. (TYP.)
’ (N) BEAM. SEE STANDING SEAM.
(N) 2x6 DF#2 AT 16" O.C—mf ROOF FRAMING (TYP.) (N) 4x4 CONTIN. BLK'G. P.E.N.
(STT‘L(JPD )WALL N-FILL FRAMING. PLAN. To HOTF CB)%K(%) TAETAL DECK v (N) 2x6 DF#2 CONT. BLK'G.
N X!
(N) .2x CONT: () 2x6 CONTIN. ./ STANDING SEAM. L BETWEEN (E) COLUMNS
PEN. x, 3" SELF TAPPING | Fryp.) \ AND METAL ‘WALL
; Sorows %3 0. SR N TAL : 2 PANELS
(BNE)T\%/EGE [\?F(#Ez) cCogLTU NE&»; 6. —i DECK TO BLK'G. (TYP.) (N) 2x6 CONTIN.
' —ROWS 3 SELF TAPPING
AND METAL ‘'WALL (N) SIMPSON A34 CLIP ANGLE SCREWS fT 12X" 0.C. THRU META
PANELS. PEN AT EACH BRACE TO 2x6 DECK TO BLK'G. (T¥P.) ——— (N) CONTIN SIMPSON CSI6
=USE #10 SCREWS. STRAP AT FACE OF 2X6
(TyP.) (N) SIMPSON A34 CLIP ANGLE ?hng‘,ngﬁ:zLED EVERY
AT EACH BRACE TO 2x6 oI T I T oo o o =3 .
(N) SIMPSON A34 CLIP ANGLE
AT EACH BRACE TO BEAM. %TSYEP #10 SCREWS. (TYP.)
ggic’émr\:sﬁ% SE(L)F TAPPING ) —_—
A
REWS TO BEA (N) 2x4 DF#2 BRACE CEILING
PREMANUFACTURED o< AT 4-0" 0.C. (TYP.) e (N) PLY. SHEARWALL.
COOLER BOX (TYP.)
(N) 2x6 DF#2 CONTIN. LEDGER SEE FOUND. PLAN. © CHANNEL_\
X &
10 x 3" SCREWS AT EACH S
(N) CONTIN SIMPSON CSI6 (N) SIMPSON A34 CLIP ANGLE 2 TYP.) (N) 3/8” THK. TAB Pt o
STRAP AT FACE OF 2X6 AT 12" 0.C. BLKIG. TO BEAM. ~5/8" '
BLK'G., NAILED EVERY USE,Bd x 1 172" NAILS TO (E) METAL WALL EVT/YPZ) 5/8" DA MBS
[HIRD HOLE. SR NEAf O SELT TAPPIN PANELS TO REMAIN.
(TYp.) (TYP.) (N) 2x6 DF#2 AT 16" 0.C: (TYP.)
STUD WALL IN—FILL FRAMING.
(TYP.)
(N) PURLIN. SEE
ROOF FRAMING
PLAN.
1/2'1__/ \A__‘]
33 29 23
@ NOT USED @ NOUT USED w229 Y DETAIL =122V DETAIL
SEE DETAIL D25 FOR
ADDITIONAL NOTES
AND INFORMATION.
3) #10 x 3" SCREWS
éR?A#
(N) 2x4 DF#2 BRACE
(N) DBL. TOP PL’S. AT 4-0" 0.C. (TYP.)
SEE DETAIL D8.
P.EN: = b
_/ - PROVIDE 2x4 BRACE NEAR gNT) SIMPSON a34 SLIP ANGLE
N) COLUMN. SEE DETAIL D25
(N) L 2x2x1/4 ANCLE Ok GO AE 5B EA m USE 410 SCREWS.
?.LA gf: COLUMN. AND INFORMATION. (A’\.P 126)'('60[)5#2 (TY )
TYP. »
54 N) 1/4” THK. STIFFNER PL. .
(N) BEAM. SEE '%ﬂ \ 8“2 EACH SIDE OF WEB. (N) 2x6 CONTIN. (N) 8d @ 6” 0.C. TO BLK'G
ROOF FRAMING éN) 1/2" THK. x Q'=10” x 8" 16d AT 6” 0.C. TO (N) 2x6 CONTIN. w/
PLAN. |\ D LATE w/ 4) 5/8 bia. BLK'G. (TYP.) | 2-ROWS %01 3 3 SELF TAPPING
gp{ (N) 8d @ 6" 0.C— BLK'G. (TYP.)
¥ == === T0 BLK'G PEN n‘ (N) 1/2" THK. APA RATED 24/16
u E. ~\ , : PLYWOOD SHEATHING w/
| (N) SIMPSON LTP4 AT = SIMPSON PDP x 2” LONG HEA)DED
12" 0.C. BLK'G. TO FASTENERS @ 12" O E
| gHANNE‘f/ZUSi LS To ;n."\ METAL DECK STANDING SEA%A (TYP.
d x 1 ”
COLUMN. SEE
- FOUND. PLAN. ?k}é,%NéNSDC Al n (E) CHANNEL (E) METAL DECK
CHANNEL. (TYP.
3 3‘ 2 L (Te.) E.N.**" = (N) 4x4 CONTIN. BLK'G.
0 A HT. OF BLK'G, RIPPED
o) TO HT. OF (E) METAL DECK
4 NOT USED =239 NOT USED P29 DETAIL 0026 0712 o s —

(STANI))ING SEAM.

(N) 2x6 CONTIN. w/

2-ROWS 410 x, 3 SELE TAPPING
SCREWS AT 12 THRU METAL

DECK TO BLKG. (TYP)

(N) SIMPSON A34 CLIP ANGLE
AT EACH BRACE TO 2x6
USE #10 SCREWS.

__(TYP)

(N) 2x4 DF#2 BRACE
AT 4-0" 0.C. (TYP.)

(N 2x6 DF#2 CONTIN. LEDGER
10 x 3" SCREWS AT EACH

TYP.)

CEILING

(N) 2x6 DF#2 AT 16” O.C.
STUD WALL IN=FILL FRAMING.
{TYP.)

4 o
g II
o0 ~ N~
b= i
& Le
H & SR
c —_—
.O O ©
£ LL
O X
£
& a
S
<O
~
& °©
L <
é o
o
g £
o
\ *
.H 3 s
s En
:“
g m%
2 s
~ ..n_;‘o’
[72]
<
3 £3S
Q A
5 k)
&0 Lo
o
5 a8
= 83
E K83

DATE:  03-26-09

SCALE: AS NOTED

DRAWN: AA/LJF

JOB NO: 0734

22 DETAIL

5-41




